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2A: 23S
M Foi2s AE Y 232X s
tel: 2ilsz2 29 (St &)
A - BB C9(B) - MRAY - BES ol &k G o HlmS2
- 0{2l0l |RXIZE & 8,000
203 ZR =& 900 900
03 A FRIHRFAIY| 900 900
Sf0i=32 AIBF
1,000, 000& *90% 900
405 XHoHE =S| 50,000 50,000
01 AL ESH =S| 50,000 50,000
SHE PUZZEX FHEX
12,500,000 & *4CH 50,000
Fatoll=al2t AL 2t 172,450 178,878 6,428
201 2| 70,498 76,998 26,500
02 E324H| 70,498 76,998 26,500
HIIR= 2,350,000« 12& 28,200
& - ol 83 1,000,000& = 12& 12,000
SADIA 23 600,000& =123 7,200
LNERYRLEZ 4,501,000& 13 4,501
20| HIIRX B+2
255,000 123 3,060
AP 300,000& %53 1,500
ESUNEINL: ] 400,000+ 122 4,800
JIHA &Hl Xl
479,362,000& *0. 5%*1.1 2,637
A2 AotED] It E A
2,500,000 23] 5,000
SY3 HAH Y SEHA =2 900
S83 HAH| 400,000& *23] 800
I =2 100,000& *12] 100
HBAES JAJH A 700,000 *13] 700
307 QI2Hol ™ 101,952 101,880 72
05 QItRE S 101,952 101,880 72
HAE | 8,496,000 = 12& 101,952
Sl - MAHEH| 2t 7,516 9,952 A2,436
201 B2 AL| 7,516 9,952 A2,436
02 2324l 7,516 9,952 A2,436
QIHY ME3H AMEZ
45,0003+ 13| & x 128 540
S&IEHl |
746,000,000 0. 85%+*1. 1 6,976
&I - A JFACHAE AH| 2tel 12,972 12,972 0
201 L2 | 11,772 11,772
02 23244l 11,772 1,772
MIIHMEH HEH =2
517,560& 123 6,211




A 23
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
AgorE el (18 242
180,000& * 12 2,160
et gel pSk=-pella] 48,0003 12 48
TIIAE 72l
139,715,000 +0.6%*1. 1 923
AHAE 22l 1,000,000 *14] 1,000
Il HIIZA =8
1,000,000& %12 1,000
SADJIA BIIBA =2
400,000& %12 400
SADIAEH 282 30,0002 %12 30
206 =4l 1,200 1,200
01 MHZH| 1,200 1,200
I A AL 2E WS 1,200
SUEX XNE 22X 23,333 17,687 5,646
101 @12A4H| 23,333 17,687 5,646
04 JIZtNZ22 XS 2+ 23,333 17,687 5,646
SUHEX X& 22X
87,4002 x1H =234 20,452
JIZtH 22X & d0is
300,000 x 113 300
JIZHH 22X REE =S A
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AESE FE= S 2,281
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ALEERES
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AHHEERES
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FRYEERE=S
726,0002 %12.951% %
=tRet 2& 44,025 85,660 241,635
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- 15,925
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= 14,000
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= 14,000
Al 6,000
401 A& HIX R0 20,000 50,700 230,700
= 14,000
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FA: 2eMS
33 A2 Mol Hs=X
ool MBS AE U MSAE LX) COR
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 173,880
T 173,880
301 EtE NS 1,159,200 1,012,800 146,400
Jl 811,440
Al 173,880
- 173,880
01 AR 2EHSHS(RNEXRTH) 1,159,200 1,012,800 146,400
ATZXOIZSE A 1,159,200
J| 811,440
Al 173,880
- 173,880
oAz =x0|8d K& 191,400 158,400 33,000
Jl 133,980
Al 28,710
- 28,710
301 EetE2 NS 191,400 158,400 33,000
Jl 133,980
Al 28,710
- 28,710
01 Al EE A S (2 RDEXA) 191,400 158,400 33,000
HOHAUAE=0IEH XA 191,400
Il 133,980
Al 28,710
- 28,710
NS 28 16,666 16,666 0
Al 5,000
- 11,666
307 @12t01 & 16,666 16,666 0
Al 5,000
- 11,666
03 M EHE2SHIEX 16,666 16,666 0
dENFuY 29 16,666
Al 5,000
T 11,666
ANodEstz IS 11,360 12,320 A960
Al 5,680
- 5,680
307 gl2to| & 11,360 12,320 2960
Al 5,680
- 5,680
03 LAHMEE2SHIEX 11,360 12,320 A960
M0 3,060
Al 1,530




SN 28HSD
33 A2 Mol Hs=X
Tl MBS ANE L HSAE gXze (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
- 1,530
TN ELIZE 2,890
Al 1,445
- 1,445
Oel0lMsu A 2,550
Al 1,275
- 1,275
AN WA 2,860
Al 1,430
- 1,430
“2HE2 X2 84,000 74,000 10,000
Al 35,000
- 49,000
307 elztol & 84,000 74,000 10,000
Al 35,000
- 49,000
03 2N EE=2SHIEx 84,000 74,000 10,000
+2HF= NH 84,000
Al 35,000
- 49,000
AN (L) MEHS XIS HXI 191,440 186,085 5,35
Jl 78,620
Al 51,910
- 60,910
307 gl2to| & 191,440 186,085 5,35
Jl 78,620
Al 51,910
- 60,910
03 QI HNEE 22X 191,440 186,085 5,3%
AT (L) MBHSANEXOI=S)
2,607,0002 5% ~12& 196,420
) 78,210
Al 39,105
- 39,106
NeEs 28 64,0002 5% 820
Jl 410
Al 205
T 205
EESES ] 300,000 x5 +23] 3,000
RS 300,000 x5 *13] 1,500
=44 130,000& x5~ 123 7,800
Al 3,900
- 3,900




SN 28HSD
33 A2 Mol Hs=X
ool MBS XE L RSAM dxize (cre:xigl)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
wSH| 275,000 x5+ 128 16,500
Al 6,000
- 10,500
2=l 90,0002 x5 =122 5,400
Al 2,700
- 2,700
HAT(AH24!) HEHSR X B 115,224 111,651 3,573
Jl 47,172
Al 31,326
- 36,726
307 @I2to| & 115,224 111,651 3,573
Jl 47,172
Al 31,326
- 36,726
03 PIZHHEE 22X 115,224 111,651 3,573
HUM(AH24) HEHSANCROIES)
2,607,000 «3E 122 93,852
Il 46,926
Al 23,463
- 23,463
NS 288 164,000 *3& 492
Il 246
Al 123
- 123
EESES ]l 300,000 x3EH *23] 1,800
XEE=AH| 300,000 *x3H *13] 900
=44| 130,000 x3&* 123 4,680
Al 2,340
T 2,340
wEH 275,000 «3H* 122 9,900
Al 3,600
- 6,300
2=H| 100,000& x32*12& 3,600
Al 1,800
- 1,800
SUHMSAIE 22l 125,931 101,020 24,911
101 @124H| 95,931 71,020 24,911
M IIRINZENSES 95,931 71,020 24,911
SUMSAE dg 22T
87,4002 x4 *240 83,904
JZRZ2X HEBA0S
300,000 x4 H*13] 1,200
22X EE S
300,000 x4 & *12] 1,200




SN 28HSD
33 A2 Mol Hs=X
Chol: MBS ME L MSAL gxize (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
UHSFE= 83,904,000 4. 5% 3,776
NESERES 83,904,000& *1.75% 1,469
MATHHELRES
83,904, 00024 %0.883% 741
EEEEEEE 83,904, 00021+3.545% 2,975
Sl EEEI=E
83,904,000& *3.545%+*12.951% 386
Saa028d 70,0002 ~4 280
401 Al HIZ R 0HbI 30,000 30,000
01 AlZ8| 30,000 30,000
SUHHSAE =4 & |- 2= 30,000
MEH AL 2 103,209 74,564 28,645
201 el 88,209 59,564 28,645
2 2229 88,209 59,564 28,645
SPR0IMSHE ZTRI(FI), A, M2
<) 10,000,000 x6& 60,000
CHHMENSRE S A4TR3
200,000& * 128 2,400
HHMEHSTE S HIIS3
1,800,000& «12& 21,600
CMMEHSTR SEA oAHlAY SR
= 11,0003 = 12043 132
H=AlE Xt |2l 4,077
+ XIS XA 30
- AEEEE 750
BN RE=S 170
+=c/H| 900
==l 1,713&*1,3002| &4 2,227
401 Al HIZL R 0HbI 15,000 15,000
01 Al&HI 15,000 15,000
HEHSAE R - 2 15,000
HEHN=E 23 461,198 485,466 N24,268
301 EtE NS 461,198 485,466 N24,268
11 dALEEIXIZE S 2,400 2,400 0
ELF F4= f8 us N2 2,400
2oty - 2SFS2YS 458,798 483,066 N24,268
Sl 47,242 150374 330,696
=HSEE= 330,695,050 *4. 5% 14,882
NELZSERYS 330,695,050 *1.75% 5,788
A2 RES
330,695,050 *0.883% 2,921
ALEEIRES 330,695,050 *3.545% 1,724
FQAEERES
11,724,0002 %12.951% 1,519




SN SHHSD
S 2010 ote Ms=X
ol MEXE s 2 MSAE Xzl EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
sy 335,000& x7Hx 128 28,140
= 2teldl 400,000& 122 4,800
&X =&l 17,220
nEyl 100,000& 7 B *23| 1,400
=] 70,0003 *7H»23|+9 8,820
Al Hl 25,000 *7H *23| x 10 3,500
2 dl 25,000 7B +23| * 10 3,500
EMAHZ2 3,000
CHal & O] 24,990
DEH| 100,000 %7273l 4,900
SEI 70,0007 +73|x3Y 10,290
Al H| 25,0003 *7 B 73| x4 4,900
2 i 25,0003 *7 B 73| x4 4,900
SHEE 7Y 9,518
=& S 200,000 7 +2H 2,800
2= S 150,000& 7 B2 2,100
SEE HOolZ 1,000,000 *23| 2,000
JIEt EHEE 1,309,000 22| 2,618
JIEF ASHl & 3,600
SREEE cIEoUE XA 30,240 21,500 8,740
201 B2 AY| 28,240 20,000 8,240
01 At22teld| 1,440 0 1,440
A 5 dAXE KS3HI
120,000 3 *6 H x2 1,440
03 HAr2 G| 26,800 20,000 6,800
SAHEA 2SO0t UE XNE S 26,800
301 LPENZ 2,000 1,500 500
11 HAAHIXIE S 2,000 1,500 500
SPEEU IS0t 0HE MAERP Al S 2,000
MSXA AIHFZ 900 900 0
203 YR F=&IH| 900 900
03 A FAIHRFAIH| 900 900
MEXE AIHF=A 1,000, 000 *90% 900
ANEd Egt L E= 54 75,000 0 75,000
Al 60,000
- 15,000
307 QIZ2t01 A 75,000 0 75,000
Al 60,000
- 15,000
02 QIZHAAAIEER 75,000 0 75,000
=2 22 ofYAE=E ME WA 75,000
Al 60,000




SN SHHSD
33 A2 Mol Hs=X
el METIS IE 2 MSAIE Lxize (Srol: 22)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| = 15,000
HEAA g4 1,400 0 1,400
201 et 3| 1,400 0 1,400
01 At22t2l] 1,400 0 1,400
g S 60,0002 154 900
DIZkSlEt MoI9IRIE] 48 S
100,000 6% 500
062l d=H& = M453 HOHIME X2 120,000 0 120,000
Al 120,000
201 er23 | 120,000 0 120,000
Al 120,000
03 A= 120,000 0 120,000
Hoeel HA=ME = K468 HOHIME X2 120,000
g3t 29 N 50,000
Al 50,000
SoteAL 28 X3 40,000
Al 40,000
NEEHZE 29 X 30,000
Al 30,000
SHEYH MU XA S 18,000 0 18,000
307 el2tol & 18,000 0 18,000
02 2B YAIAE £ 18,000 0 18,000
S MSHA X2 18,000
HY2AHHI(2HE ) 122,808 119,714 3,004
el 2| 65,044 63,318 1,726
el 24| 65,044 63,318 1,726
101 @124H| 58,776 57,167 1,609
03 SR (RINHA) 222+ 58,776 57,167 1,609
S0 28 & RUANE EX 58,776
E2s 2,868,4002x1&~12& 34,421
=AMl 140,000& x 12+ 123 1,680
- EFOH 2,868,400 + 1 +80% 2,295
L ARt RR Y
16,0043 * 1Z *4A| 2H+52=%150% 4,994
]
16,0043 * 1 *BA| 2Hx52Z=%150f% 9,987
AxtrsRt=E
16,0042« 1 +BA| 222 2,817
F2ExE 20,0008 18122 240
pE=m= 70,0002 %12 122 840
gita0s 3,753, 7403« 1 *40f% 1,502
M HASFESS 6,268 6,151 17
M BRA(RIHSL) 22N BEE2RE=s S 6,268 6,151 17




FA: 2eMS
M HYRAZH(2SHSL)
s lIEE2ghl EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
=glgiz J|2RE=
56,256,000& *4. 5% 2,532
AAEE J|2ARES
56,256,000 +3.545% 1,995
YL J2RE=3
56,256,000 +3.545%+12.951% 259
NEEE J|2RE=
56,256,000& *1.75% 985
SATHEE JI2RE3
56,256,000 +0.883% 497
=&l 57,764 56,396 1,368
JI23Hl 57,764 56,396 1,368
201 2= 16,220 14,852 1,368
01 At22t2ltl 16,220 14,852 1,368
A2 150,0003 x 19 x95% 2,708
Jl2eR=AgA
9,000 x6A! 192 * 12 12,312
SAPDI Sxtz(230=32)
100,000 «12& 1,200
202 04| 38,304 38,304
01 =LHO LI 38,304 38,304
A EH0H 280,000 x19H « 122 6% 38,304
203 gR=8| 3,240 3,240
04 A2 LRFAI 3,240 3,240
SNRgYRETY|
300,000 122 *90% 3,240




